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������ 2. 	$�� %�#&��� ��$� �'$'�%� 30% %�#&��, � $��"� – 40%. ���� �� $����
%�#���� ��$� �'$'�%� 4600 (" %�#&��. 
(� �� !'����� ��$� �� ������ 2000 (" !�-
��#(�, � �� ������� 4000 (" !���)�, *� �� !�#�)� ����, )������ �'$'�%���� ��
%�#&���� � (�&�� � 35%. +� (�#(� ���� ��$� �� ����� �� ���(� ��$ !�� !�#�)�������
�� !'����� ����? 
������ 3.  ��)(��� � � ��$�,���'� �� ���'"'#��( 
��, ���'"'#��('� 
1�1�1 �
� ��� �� 
�� !�� �����#�,�& � ��(��� AM � BMABN ∩= 1 , CMACP ∩= 1  . 
�) ��(�%���, )� B1C1PN e ���!�, � !������ 
� ���!�#��&�� �������� ��. 
 ) 
(� )�����'"'#��( B1C1MB e �!���� � �(�'%����, $�(�%���, )� !����)����
��)(� �� !������ BB1 � �� #�%� �� �!������� �(�'%���� �(�#� ���'"'#��( 
��. 
������ 4. ���(� �)�����( � ��#��������� �"�� ��& �� $� �' ��� �#� ����$� (�
!������#�� ��$) )��#��� 2 � 9 � !�#�)����� )��#� $� ��!���� � ���$���� (��� !����
$� �)����� ���� ��$�'% � �"����), ('$��� (��!-�'� �' ��� ��!�������� )��#�. 
�) +���)��� !����� �� ��!������ )��#�, � (���� (��!-�'�'� !�#�)��� )��#��� 1. 
 ) +���)��� !�����, !�� (���� �� !�#�)��� )��#��� 2011. 
������� ���-��#(�&
 ��� �)�����,� �� !�#�)����� �� 2011. 
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